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District 1 Assessment

1. 
[image: image1.png]Which of the following atoms has six valence
electrons?

A magnesium (Mg)

B silicon (Si)
C sulfur(S)
D argon (Ar)

Which statement best describes the density of
an atom’s nucleus?

A The nucleus occupies most of the atom’s
volume but contains little of its mass.

B The nucleus occupies very little of the atom’s
volume and contains little of its mass.

€ The nucleus occupies most of the atom’s
volume and contains most of its mass.

D The nucleus occupies very little of the atom’s
volume but contains most of its mass.




3. Please fill in the following table: 

	
	Charge
	Where are these found in the atom?
	Mass of each particle

	Protons
	
	
	

	Neutrons
	
	
	

	Electrons
	
	
	


4. Explain the design of Thomson’s experiment and how it demonstrated evidence for the existence of the electron.

5. When Rutherford completed his experiment, his data looked like this:

	Observations
	Proportion

	Particles went straight through gold foil
	> 98%

	Particles went through gold foil but were deflected at large angles
	= 2%

	Particles bounced off gold foil
	=0.01 %


What do the experimental results above reveal about the nucleus of the gold atom? Explain Why! Support with data (YOU WILL NOT GET CREDIT UNLESS YOU SUPPORT YOUR ANSWER WITH DATA)
6. The following questions all concern the element oxygen (O).

a. Draw the electron configuration for O. 

b. How many valence electrons does O have? 

c. What ion would O form (O+1, O-1, etc.)
d. How many electrons would it have to gain or lose in order to form this ion? 
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